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MÔN THI: VẬT LÝ 
HƯỚNG DẪN CHẤM
	Câu 1

1,5 điểm
	a. d = 2f 
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d’ = d = 12 cm.
b. Ảnh thật.

  Kích thước bằng vật.
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	Câu 2
2,0 điểm
	a. 
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 EMBED Equation.3  [image: image4.wmf]

 EMBED Equation.3  [image: image5.wmf]
    U2 = 400 V.
b. H = 
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     P2 = 9600 W.
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	Câu 3
1,5 điểm
	A = F.s = 4000 J.

P = 
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A

= 40 W.
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	Câu 4
1,5 điểm
	Lần đầu: m1c1(100 - 90) = m2c2(90 - 20)

               m1c1 = 7m2c2.

Lần sau: m1c1(90 - t) = m2c2(t - 30)

               7m2c2(90 - t) = m2c2(t - 30)
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t = 82,50C.
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3,5 điểm
	a. 
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     R234 = 20 Ω.

     RAB= R1+ R234 = 35Ω.
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	b. Vì R2 = R3 = R4 và U2 = U3 = U4​
    I2= I3= I4 = 0,5A

    I1= I234= I2+ I3+ I4= 1,5A
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	c. U1= I1R1 = 22,5 V.

    U2 = U3 = U4​= U234= I234.R234= 30V.

    UAB= U1+ U234= 52,5 V.
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	d. P1= R1I
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1

= U1I1= 33,75W.

    Q = RABI
[image: image11.wmf]2

1

t = UABI1t = 141 750 J.
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------------------Hết ------------------
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